ADDRESS	PAY ITEM	QUANTITY	UNIT	PRICE	UNIT	TOTAL COST
3140 Gollihar Road	Curb, Gutter & Pavement (Fronting)	0.0	LF	\$19.50	/LF	\$0.00
Church's Chicken of CC	Curb, Gutter & Pavement (Siding)	91.5	LF	\$19.50	/LF	\$1,784.25
Lot 1A & 2, Block c	4' Sidewalk (Fronting)	22.0	SF	\$1.00	/SF	\$22.00
Ava Cooper Subd.	4' Sidewalk (Siding)	414.0	SF	\$1.00	/SF	\$414.00
Coastal Tax Consultants	Driveway (In ROW)	0.0	SF	\$5.22	/SF	\$0.00
Bandera, TX 78003-3137	Driveway (Behind ROW)	0.0	SF	\$5.22	/SF	\$0.00
			Total A	ssessment Co	st:	\$2,220.25
3140 Ivy Lane	Curb, Gutter & Pavement (Fronting)	0.0	LF	\$19.50	/LF	\$0.00
Church's Chicken of CC	Curb, Gutter & Pavement (Siding)	50.0	LF	\$19.50	/LF	\$975.00
Lot 12A	4' Sidewalk (Fronting)	0.0	SF	\$1.00	/SF	\$0.00
Ava Cooper Subd.	4' Sidewalk (Siding)	200.0	SF	\$1.00	/SF	\$200.00
Coastal Tax Consultants	Driveway (In ROW)	0.0	SF	\$5.22	/SF	\$0.00
Bandera, TX 78003-3137	Driveway (Behind ROW)	0.0	SF	\$5.22	/SF	\$0.00
			Total A	ssessment Co	st:	\$1,175.00
3126 Gollihar Road	Curb, Gutter & Pavement (Fronting)	0.0	l F	\$9.75	/I F	\$0.00
Templo Cristo Rey de Gloria	Curb, Gutter & Pavement (Floriding)	50.0		\$4.88		\$244.00
Lot 13, Block 2	4' Sidewalk (Fronting)	0.0		\$1.00		\$0.00
Brookside Subd.	4' Sidewalk (Siding)	107.5		\$0.50		\$53.75
PO Box 71706	Driveway A (In ROW)	284.5		\$5.22		\$1,485.09
10 800 7 1700	Driveway A (Behind ROW) (CONC-CONC)	231.0		\$5.22		\$1,485.09
	Driveway A (Berlind ROW) (CONC-CONC)	231.0		ssessment Co		\$2,988.66
			TOTAL A	ssessment Co	ost:	\$2,900.00
3126 Gollihar Road	Curb, Gutter & Pavement (Fronting)	0.0	LF	\$9.75	/LF	\$0.00
Templo Cristo Rey de Gloria	Curb, Gutter & Pavement (Siding)	25.0	LF	\$4.88	/LF	\$122.00
Lot 14, Ex. SW 10', Block 2	4' Sidewalk (Fronting)	23.5	SF	\$1.00	/SF	\$23.50
Brookside Subd.	4' Sidewalk (Siding)	158.5	SF	\$0.50	/SF	\$79.25
PO Box 71706	Driveway (In ROW)	0.0	SF	\$5.22		\$0.00
	Driveway (Behind ROW)	0.0		\$5.22		\$0.00
				ssessment Co		\$224.75
4417 Ivy Lane	Curb, Gutter & Pavement (Fronting)	50.0	LF	\$9.75	/LF	\$487.50
Bobby D. Harris	Curb, Gutter & Pavement (Siding)	0.0		\$4.88		\$0.00
Lot 12, Block 2	4' Sidewalk (Fronting)	160.0		\$1.00		\$160.00
Brookside Subd.	4' Sidewalk (Siding)	0.0		\$0.50		\$0.00
	Driveway B (In ROW)	140.0		\$5.22		\$730.80
	Driveway B (Behind ROW) (CONC-CONC)	30.0		\$5.22		\$156.60
		00.0		ssessment Co		\$1,534.90
4442 had a::-	Curb Cuttor 9 Devices and (Farming)	50.0	1.5	60.7 5	/1 🗁	0407.50
4413 Ivy Lane	Curb, Gutter & Pavement (Fronting)	50.0		\$9.75		\$487.50
Templo Cristo Rey de Gloria	Curb, Gutter & Pavement (Siding)	0.0		\$4.88		\$0.00
Lot 11, Block 2	4' Sidewalk (Fronting)	162.0		\$1.00		\$162.00
Brookside Subd.	4' Sidewalk (Siding)	0.0		\$0.50		\$0.00
3126 Gollihar	Driveway C (In ROW)	162.0		\$5.22		\$845.64
Corpus Christi, TX 78415	Driveway C (Behind ROW) (ASPH-GRVL)	84.0		\$26.12		\$243.79
		1	ı otal A	ssessment Co	st:	\$1,738.93
4414 Ivy Lane	Curb, Gutter & Pavement (Fronting)	50.0	LF	\$9.75	/LF	\$487.50
Karla Reyna & Husband	Curb, Gutter & Pavement (Siding)	0.0	LF	\$4.88	/LF	\$0.00
Lot 11A & Portion of Lot 11	4' Sidewalk (Fronting)	148.0	SF	\$1.00	/SF	\$148.00
Ava Cooper Subd.	4' Sidewalk (Siding)	0.0	SF	\$0.50	/SF	\$0.00
	Driveway D (In ROW)	191.0	SF	\$5.22	/SF	\$997.02
	Driveway D (Behind ROW) (CONC-CONC)	102.5	SF	\$5.22	/SF	\$535.05
	i i		Total A	ssessment Co	ct.	\$2,167.57

12/20/2012 1 of 7

	9				
4410 Ivy Lane	Curb, Gutter & Pavement (Fronting)	45.0	LF	\$9.75 /LF	\$438.75
Santos A. ET UX &	Curb, Gutter & Pavement (Siding)	0.0	LF	\$4.88 /LF	\$0.00
Virginia Herrera	4' Sidewalk (Fronting)	129.0	SF	\$1.00 /SF	\$129.00
Lot 10A	4' Sidewalk (Siding)	0.0	SF	\$0.50 /SF	\$0.00
Ava Cooper Subd.	Driveway E (In ROW)	166.5	SF	\$5.22 /SF	\$869.13
·	Driveway E (Behind ROW) (CONC-CONC)	149.0	SF	\$5.22 /SF	\$777.78
			Total As	ssessment Cost:	\$2,214.66
4409 Ivy Lane	Curb, Gutter & Pavement (Fronting)	50.0	LF	\$9.75 /LF	\$487.50
Jesus A. Soto ET UX &	Curb, Gutter & Pavement (Siding)	0.0	LF	\$4.88 /LF	\$0.00
Jacqueline	4' Sidewalk (Fronting)	126.0	SF	\$1.00 /SF	\$126.00
Lot 10, Block 2	4' Sidewalk (Siding)	0.0	SF	\$0.50 /SF	\$0.00
Brookside Subd.	Driveway F (In ROW)	234.0	SF	\$5.22 /SF	\$1,221.48
	Driveway F (Behind ROW) (ASPH-ASPH)	130.0	SF	\$26.12 /SY	\$377.29
			Total As	ssessment Cost:	\$2,212.27
4405 Ivy Lane	Curb, Gutter & Pavement (Fronting)	50.0	LF	\$9.75 /LF	\$487.50
Irene Haeber	Curb, Gutter & Pavement (Siding)	0.0	LF	\$4.88 /LF	\$0.00
Lot 9, Block 2	4' Sidewalk (Fronting)	160.0	SF	\$1.00 /SF	\$160.00
Brookside Subd.	4' Sidewalk (Siding)	0.0	SF	\$0.50 /SF	\$0.00
6055 Lost Creek	Driveway G (In ROW)	140.0	SF	\$5.22 /SF	\$730.80
Corpus Christi, TX 78413	Driveway G (Behind ROW) (CONC-CONC)	60.0	SF	\$5.22 /SF	\$313.20
			Total As	ssessment Cost:	\$1,691.50
4402 Ivy Lane	Curb, Gutter & Pavement (Fronting)	47.5	LF	\$9.75 /LF	\$463.13
Safeguard System Inc.	Curb, Gutter & Pavement (Siding)	0.0	LF	\$4.88 /LF	\$0.00
Lot 8A	4' Sidewalk (Fronting)	115.0	SF	\$1.00 /SF	\$115.00
Ava Cooper Subd.	4' Sidewalk (Siding)	0.0	SF	\$0.50 /SF	\$0.00
4401 Kostoryz	Driveway H (In ROW)	236.0	SF	\$5.22 /SF	\$1,231.92
Corpus Christi, TX 78415	Driveway H (Behind ROW) (ASPH-GRVL)	0.0	SF	\$26.12 /SY	\$0.00
			Total As	ssessment Cost:	\$1,810.05
4401 Ivy Lane	Curb, Gutter & Pavement (Fronting)	50.0	LF	\$9.75 /LF	\$487.50
Irene Haeber	Curb, Gutter & Pavement (Siding)	0.0	LF	\$4.88 /LF	\$0.00
Lot 8, Block 2	4' Sidewalk (Fronting)	159.5	SF	\$1.00 /SF	\$159.50
Brookside Subd.	4' Sidewalk (Siding)	0.0	SF	\$0.50 /SF	\$0.00
6055 Lost Creek	Driveway I (In ROW)	141.5	SF	\$5.22 /SF	\$738.63
Corpus Christi, TX 78413	Driveway I (Behind ROW) (CONC-CONC)	8.5	SF	\$5.22 /SF	\$44.37
			Total As	ssessment Cost:	\$1,430.00
4406 Ivy Lane	Curb, Gutter & Pavement (Fronting)	47.5	LF	\$9.75 /LF	\$463.13
Safeguard System Inc.	Curb, Gutter & Pavement (Siding)	0.0	LF	\$4.88 /LF	\$0.00
Lot 9A	4' Sidewalk (Fronting)	190.0	SF	\$1.00 /SF	\$190.00
Ava Cooper Subd.	4' Sidewalk (Siding)	0.0	SF	\$0.50 /SF	\$0.00
4401 Kostoryz	Driveway (In ROW)	0.0	SF	\$5.22 /SF	\$0.00
Corpus Christi, TX 78415	Driveway (Behind ROW) (ASPH-GRVL)	0.0	SF	\$26.12 /SY	\$0.00
			Total As	ssessment Cost:	\$653.13
4365 Ivy Lane	Curb, Gutter & Pavement (Fronting)	50.5	LF	\$9.75 /LF	\$492.38
Joe Rangel de la Rosa	Curb, Gutter & Pavement (Siding)	0.0	LF	\$4.88 /LF	\$0.00
Lot 1	4' Sidewalk (Fronting)	198.0	SF	\$1.00 /SF	\$198.00
Nicholson Subd.	4' Sidewalk (Siding)	0.0	SF	\$0.50 /SF	\$0.00
	Driveway J (In ROW)	140.0	SF	\$5.22 /SF	\$730.80
	Driveway J (Behind ROW) (CONC-CONC)	50.0	SF	\$5.22 /SF	\$261.00
				ssessment Cost:	\$1,682.18

12/20/2012 2 of 7

	· ·				
4358 Ivy Lane	Curb, Gutter & Pavement (Fronting)	54.0	LF	\$9.75 /LF	\$526.50
Encarnacion Villanueva	Curb, Gutter & Pavement (Siding)	0.0	LF	\$4.88 /LF	\$0.00
Lot 7H	4' Sidewalk (Fronting)	181.0	SF	\$1.00 /SF	\$181.00
Ava Cooper Subd.	4' Sidewalk (Siding)	0.0	SF	\$0.50 /SF	\$0.00
4350 Ivy Lane	Driveway K (In ROW)	140.0	SF	\$5.22 /SF	\$730.80
Corpus Christi, TX	Driveway K (Behind ROW) (ASPH-ASPH)	0.0	SF	\$26.12 /SY	\$0.00
			Total As	ssessment Cost:	\$1,438.30
4361 Ivy Lane	Curb, Gutter & Pavement (Fronting)	50.0		\$9.75 /LF	\$487.50
Encarnacion/Maria Villanueva	Curb, Gutter & Pavement (Siding)	0.0	LF	\$4.88 /LF	\$0.00
Lot 2	4' Sidewalk (Fronting)	164.0		\$1.00 /SF	\$164.00
Nicholson Subd.	4' Sidewalk (Siding)		SF	\$0.50 /SF	\$0.00
	Driveway L (In ROW)	140.0		\$5.22 /SF	\$730.80
	Driveway L (Behind ROW) (ASPH-ASPH)	23.0	SF	\$26.12 /SY	\$66.75
			Total As	ssessment Cost:	\$1,449.05
4354 Ivy Lane	Curb, Gutter & Pavement (Fronting)	52.0	I F	\$9.75 /LF	\$507.00
Thomas R. Riddick	Curb, Gutter & Pavement (Siding)	0.0		\$4.88 /LF	\$0.00
Lot 7	4' Sidewalk (Fronting)	161.0		\$1.00 /SF	\$161.00
Ava Cooper Subd.	4' Sidewalk (Siding)		SF	\$0.50 /SF	\$0.00
PO Box 270366-78427	Driveway M (In ROW)	140.0		\$5.22 /SF	\$730.80
1 O BOX 270300-70427	Driveway M (Behind ROW) (ASPH-ASPH)	30.0		\$26.12 /SY	\$87.07
	Dilveway W (Berlind NOW) (ASFTI-ASFTI)	30.0		ssessment Cost:	\$1,485.87
			1010171	occoment occi.	ψ1,400.01
4357 Ivy Lane	Curb, Gutter & Pavement (Fronting)	50.0	LF	\$9.75 /LF	\$487.50
Encarnacion Villanueva	Curb, Gutter & Pavement (Siding)	0.0	LF	\$4.88 /LF	\$0.00
Lot 3	4' Sidewalk (Fronting)	164.0	SF	\$1.00 /SF	\$164.00
Nicholson Subd.	4' Sidewalk (Siding)	0.0	SF	\$0.50 /SF	\$0.00
4350 lvy Lane	Driveway N (In ROW)	140.0	SF	\$5.22 /SF	\$730.80
Corpus Christi, TX	Driveway N (Behind ROW) (CONC-CONC)	70.0	SF	\$5.22 /SF	\$365.40
			Total As	ssessment Cost:	\$1,747.70
42.40 hav Lone	Curb Cuttor & Dovoment (Frenting)	F0.0	1.5	¢0.75 /LF	\$487.50
4346 Ivy Lane	Curb Cutter & Payament (Ciding)	50.0		\$9.75 /LF	
Encarnacion Villanueva	Curb, Gutter & Pavement (Siding)	0.0		\$4.88 /LF	\$0.00
Lot 7D	4' Sidewalk (Fronting)	154.5		\$1.00 /SF	\$154.50
Ava Cooper Subd. 4350 lvy Lane	4' Sidewalk (Siding) Driveway O (In ROW)		SF	\$0.50 /SF \$5.22 /SF	\$0.00
Corpus Christi, TX	,	58.5 40.5			\$305.37
Corpus Crinsti, 17	Driveway O (Behind ROW) (ASPH-ASPH)	40.5		\$26.12 /SY	\$117.54 \$1,064.91
			Total A.	ssessment oost.	Ψ1,004.31
4350 Ivy Lane	Curb, Gutter & Pavement (Fronting)	50.0	LF	\$9.75 /LF	\$487.50
Encarnacion Villanueva	Curb, Gutter & Pavement (Siding)	0.0	LF	\$4.88 /LF	\$0.00
Lot 7C	4' Sidewalk (Fronting)	181.5		\$1.00 /SF	\$181.50
Ava Cooper Subd.	4' Sidewalk (Siding)		SF	\$0.50 /SF	\$0.00
•	Driveway O (In ROW)	78.5	SF	\$5.22 /SF	\$409.77
	Driveway O (Behind ROW) (ASPH-ASPH)	29.0	SF	\$26.12 /SY	\$84.16
			Total As	ssessment Cost:	\$1,162.93
4353 Ivy Lane	Curb, Gutter & Pavement (Fronting)	50.0		\$9.75 /LF	\$487.50
Encarnacion Villanueva ET UX			LF	\$4.88 /LF	\$0.00
Lot 4	4' Sidewalk (Fronting)	162.5		\$1.00 /SF	\$162.50
Nicholson Subd.	4' Sidewalk (Siding)	0.0	SF	\$0.50 /SF	\$0.00
	Driveway P (In ROW)	140.0	SF	\$5.22 /SF	\$730.80
	Driveway P (Behind ROW) (ASPH-ASPH)	50.0	SF	\$26.12 /SY	\$145.11
			Total As	ssessment Cost:	\$1,525.91

12/20/2012 3 of 7

	<u> </u>				
4349 Ivy Lane	Curb, Gutter & Pavement (Fronting)	50.0		\$9.75 /LF	\$487.50
Ernesto Reyes	Curb, Gutter & Pavement (Siding)	0.0		\$4.88 /LF	\$0.00
Lot 5	4' Sidewalk (Fronting)	170.0		\$1.00 /SF	\$170.00
Nicholson Subd.	4' Sidewalk (Siding)	0.0		\$0.50 /SF	\$0.00
	Driveway Q (In ROW)	140.0		\$5.22 /SF	\$730.80
	Driveway Q (Behind ROW) (ASPH-GRVL)	50.0		\$26.12 /SY	\$145.11
			Total A	ssessment Cost:	\$1,533.41
4342 Ivy Lane	Curb, Gutter & Pavement (Fronting)	50.0	LE	\$9.75 /LF	\$487.50
Encarnacion/Maria Villanueva	Curb, Gutter & Pavement (Fiding)	0.0		\$4.88 /LF	\$0.00
Lot 7E	4' Sidewalk (Fronting)	178.5		\$1.00 /SF	\$178.50
Ava Cooper Subd.	4' Sidewalk (Siding)	0.0		\$0.50 /SF	\$0.00
Ava Cooper Subu.	Driveway R (In ROW)	140.0		\$5.22 /SF	\$730.80
	Driveway R (Behind ROW) (CONC-CONC)	50.0		\$5.22 /SF	\$261.00
	Driveway it (Berlind NOW) (CONC-CONC)	30.0		ssessment Cost:	\$1,657.80
					. ,
4345 Ivy Lane	Curb, Gutter & Pavement (Fronting)	50.0	LF	\$9.75 /LF	\$487.50
San Juanita Flores ET ALS	Curb, Gutter & Pavement (Siding)	0.0	LF	\$4.88 /LF	\$0.00
Lot 6	4' Sidewalk (Fronting)	160.0	SF	\$1.00 /SF	\$160.00
Nicholson Subd.	4' Sidewalk (Siding)	0.0	SF	\$0.50 /SF	\$0.00
	Driveway S (In ROW)	140.0	SF	\$5.22 /SF	\$730.80
	Driveway S (Behind ROW) (ASPH-ASPH)	30.0	SF	\$26.12 /SY	\$87.07
			Total A	ssessment Cost:	\$1,465.37
4000 had an	Court Courter 9 Development (Frankings)	50.5		ФО 75 /I Б	¢400.00
4338 Ivy Lane	Curb, Gutter & Pavement (Fronting)	50.5		\$9.75 /LF	\$492.38
Encarnacion Villanueva	Curb, Gutter & Pavement (Siding)	0.0		\$4.88 /LF	\$0.00
Lot 7F	4' Sidewalk (Fronting)	166.0		\$1.00 /SF	\$166.00
Ava Cooper Subd.	4' Sidewalk (Siding)	0.0		\$0.50 /SF	\$0.00
	Driveway T (In ROW)	132.0		\$5.22 /SF \$26.12 /SY	\$689.04
	Driveway T (Behind ROW) (ASPH-ASPH)	70.0		·	\$203.16
			Total A	ssessment Cost:	\$1,550.57
4334 Ivy Lane	Curb, Gutter & Pavement (Fronting)	62.5	LF	\$9.75 /LF	\$609.38
Juan M./Mary G. Macias	Curb, Gutter & Pavement (Siding)	0.0	LF	\$4.88 /LF	\$0.00
W Half of Lot 6	4' Sidewalk (Fronting)	209.5		\$1.00 /SF	\$209.50
Ava Cooper Subd.	4' Sidewalk (Siding)		SF	\$0.50 /SF	\$0.00
	Driveway U (In ROW)	196.0	SF	\$5.22 /SF	\$1,023.12
	Driveway U (Behind ROW) (CONC-CONC)	84.5	SF	\$5.22 /SF	\$441.09
			Total A	ssessment Cost:	\$2,283.09
4341 Ivy lane	Curb, Gutter & Pavement (Fronting)	50.0		\$9.75 /LF	\$487.50
Ofilia Basaldu	Curb, Gutter & Pavement (Siding)	0.0		\$4.88 /LF	\$0.00
Lot 7	4' Sidewalk (Fronting)	162.5		\$1.00 /SF	\$162.50
Nicholson Subd.	4' Sidewalk (Siding)		SF	\$0.50 /SF	\$0.00
	Driveway V (In ROW)	140.0		\$5.22 /SF	\$730.80
	Driveway V (Behind ROW) (ASPH-GRVL)	50.0		\$26.12 /SY	\$145.11
			Total A	ssessment Cost:	\$1,525.91
4328 Ivy Lane	Curb, Gutter & Pavement (Fronting)	66.0	LF	\$9.75 /LF	\$643.50
Enrique JR/Juanita M. Reyes	Curb, Gutter & Pavement (Siding)	0.0		\$4.88 /LF	\$0.00
W Half of Lot 5	4' Sidewalk (Fronting)	216.5		\$1.00 /SF	\$216.50
Ava Cooper Subd.	4' Sidewalk (Siding)		SF	\$0.50 /SF	\$0.00
Ava Gooper Gubu.	Driveway W (In ROW)	175.5		\$5.22 /SF	\$916.11
		79.5			
	Driveway W (Behind ROW) (ASPH-ASPH)	/ 4 ~	SE	\$26.12 /SY	\$230.73

12/20/2012 4 of 7

4337 Ivy Lane	Curb, Gutter & Pavement (Fronting)	50.0	LF	\$9.75 /LF	\$487.50
Kimberly Puebla	Curb, Gutter & Pavement (Siding)	0.0		\$4.88 /LF	\$0.00
Lot 8	4' Sidewalk (Fronting)	156.0		\$1.00 /SF	\$156.00
Nicholson Subd.	4' Sidewalk (Siding)		SF	\$0.50 /SF	\$0.00
4709 Phillip Dr.	Driveway X (In ROW)	162.0		\$5.22 /SF	\$845.64
Corpus Christi, TX 78415	Driveway X (Behind ROW) (ASPH-GRVL)	60.0		\$26.12 /SY	\$174.13
	Zinoway / (Zerima (Cert) (Ner 11 Gittz)	00.0		assessment Cost:	\$1,663.27
					. ,
4333 Ivy Lane	Curb, Gutter & Pavement (Fronting)	50.0	LF	\$9.75 /LF	\$487.50
Leon Rolando Castaneda	Curb, Gutter & Pavement (Siding)	0.0	LF	\$4.88 /LF	\$0.00
Lot 9	4' Sidewalk (Fronting)	168.5	SF	\$1.00 /SF	\$168.50
Nicholson Subd.	4' Sidewalk (Siding)	0.0	SF	\$0.50 /SF	\$0.00
	Driveway Y (In ROW)	140.0	SF	\$5.22 /SF	\$730.80
	Driveway Y (Behind ROW) (CONC-CONC)	80.0	SF	\$5.22 /SF	\$417.60
			Total A	ssessment Cost:	\$1,804.40
4326 Ivy Lane	Curb, Gutter & Pavement (Fronting)	62.0	LF	\$9.75 /LF	\$604.50
Marco/Maria Moreno	Curb, Gutter & Pavement (Siding)	0.0		\$4.88 /LF	\$0.00
Lot 4A	4' Sidewalk (Fronting)	208.0		\$1.00 /SF	\$208.00
Ava Cooper Subd.	4' Sidewalk (Siding)		SF	\$0.50 /SF	\$0.00
Ava Goopei Gusa.	Driveway Z (In ROW)	140.0		\$5.22 /SF	\$730.80
	Driveway Z (Behind ROW) (CONC-CONC)	30.0		\$5.22 /SF	\$156.60
				assessment Cost:	\$1,699.90
4329 Ivy Lane	Curb, Gutter & Pavement (Fronting)	50.0	LF	\$9.75 /LF	\$487.50
Jose Noe/Aurora Garcia	Curb, Gutter & Pavement (Siding)	0.0	LF	\$4.88 /LF	\$0.00
Lot 10	4' Sidewalk (Fronting)	170.0	SF	\$1.00 /SF	\$170.00
Nicholson Subd.	4' Sidewalk (Siding)		SF	\$0.50 /SF	\$0.00
	Driveway AA (In ROW)	140.0		\$5.22 /SF	\$730.80
	Driveway AA (Behind ROW) (CONC-CONC)	70.5	SF	\$5.22 /SF	\$368.01
			Total A	assessment Cost:	\$1,756.31
4325 Ivy Lane	Curb, Gutter & Pavement (Fronting)	50.0	LF	\$9.75 /LF	\$487.50
Reynado P. JR/Mary L. Leal	Curb, Gutter & Pavement (Siding)		LF	\$4.88 /LF	\$0.00
Lot 11	4' Sidewalk (Fronting)	104.5		\$1.00 /SF	\$104.50
Nicholson Subd.	4' Sidewalk (Siding)		SF	\$0.50 /SF	\$0.00
	Driveway AB (In ROW)	272.5		\$5.22 /SF	\$1,422.45
	Driveway AB (Behind ROW) (CONC-CONC)	144.0		\$5.22 /SF	\$751.68
				ssessment Cost:	\$2,766.13
				#0.75 ". T	A0.17.7
4317 Ivy Lane	Curb, Gutter & Pavement (Fronting)	97.0		\$9.75 /LF	\$945.75
Rafael Luis/Elisa Garza	Curb, Gutter & Pavement (Siding)		LF	\$4.88 /LF	\$0.00
Lot 12	4' Sidewalk (Fronting)	305.5		\$1.00 /SF	\$305.50
Nicholson Subd.	4' Sidewalk (Siding)		SF	\$0.50 /SF	\$0.00
	Driveway AB (In ROW)	258.0		\$5.22 /SF	\$1,346.76
	Driveway AB (Behind ROW) (ASPH-GRVL)	111.5		\$26.12 /SY	\$323.60 \$2,921.61
			1 Otal A	assessment cost.	Ψ2,321.01
4322 Ivy Lane	Curb, Gutter & Pavement (Fronting)	62.0	LF	\$9.75 /LF	\$604.50
Irene Haeber	Curb, Gutter & Pavement (Siding)	0.0	LF	\$4.88 /LF	\$0.00
NW Half of Lot 3C	4' Sidewalk (Fronting)	208.0	SF	\$1.00 /SF	\$208.00
Ava Cooper Subd.	4' Sidewalk (Siding)	0.0	SF	\$0.50 /SF	\$0.00
	Driveway AC (In ROW)	140.0	SF	\$5.22 /SF	\$730.80
	Driveway AC (Behind ROW) (ASPH-GRVL)	30.5	SF	\$26.12 /SY	\$88.52
			Total A	ssessment Cost:	\$1,631.82

12/20/2012 5 of 7

	5				
4318 Ivy Lane	Curb, Gutter & Pavement (Fronting)	62.0	LF	\$9.75 /LF	\$604.50
Carolina P. Flores	Curb, Gutter & Pavement (Siding)	0.0	LF	\$4.88 /LF	\$0.00
Lot 2B	4' Sidewalk (Fronting)	213.0	SF	\$1.00 /SF	\$213.00
Ava Cooper Subd.	4' Sidewalk (Siding)	0.0	SF	\$0.50 /SF	\$0.00
·	Driveway AD (In ROW)	140.0	SF	\$5.22 /SF	\$730.80
	Driveway AD (Behind ROW) (CONC-CONC)	82.5	SF	\$5.22 /SF	\$430.65
			Total As	ssessment Cost:	\$1,978.95
3125 Ivy Lane	Curb, Gutter & Pavement (Fronting)	50.5	LF	\$9.75 /LF	\$492.38
Grace Bible Church	Curb, Gutter & Pavement (Siding)	0.0	LF	\$4.88 /LF	\$0.00
Lot 1, Block 1	4' Sidewalk (Fronting)	113.0	SF	\$1.00 /SF	\$113.00
Tower Subd.	4' Sidewalk (Siding)	0.0	SF	\$0.50 /SF	\$0.00
	Driveway AE (In ROW)	140.0	SF	\$5.22 /SF	\$730.80
	Driveway AE (Behind ROW) (CONC-CONC)	70.0	SF	\$5.22 /SF	\$365.40
	Driveway AF (In ROW)	162.0	SF	\$5.22 /SF	\$845.64
	Driveway AF (Behind ROW) (CONC-CONC)	85.0	SF	\$5.22 /SF	\$443.70
			Total As	ssessment Cost:	\$2,990.92
3125 Ivy Lane	Curb, Gutter & Pavement (Fronting)	42.5	LF	\$9.75 /LF	\$414.38
Grace Bible Church	Curb, Gutter & Pavement (Siding)		LF	\$4.88 /LF	\$0.00
Lot 2, Block 1	4' Sidewalk (Fronting)	169.0		\$1.00 /SF	\$169.00
Tower Subd.	4' Sidewalk (Siding)		SF	\$0.50 /SF	\$0.00
TOWO! GUDU!	Driveway (In ROW)		SF	\$5.22 /SF	\$0.00
	Driveway (Behind ROW)		SF	\$26.12 /SF	\$0.00
	Diversaly (Denima (CCV)	0.0		ssessment Cost:	\$583.38
			1010171	occoment coct.	Ψ000.00
3125 Ivy Lane	Curb, Gutter & Pavement (Fronting)	42.5	LF	\$9.75 /LF	\$414.38
Grace Bible Church	Curb, Gutter & Pavement (Siding)	0.0	LF	\$4.88 /LF	\$0.00
Lot 3, Block 1	4' Sidewalk (Fronting)	132.5	SF	\$1.00 /SF	\$132.50
Tower Subd.	4' Sidewalk (Siding)	0.0	SF	\$0.50 /SF	\$0.00
	Driveway AG (In ROW)	140.5	SF	\$5.22 /SF	\$733.41
	Driveway AG (Behind ROW) (ASPH-ASPH)	30.5	SF	\$26.12 /SY	\$88.52
			Total As	ssessment Cost:	\$1,368.80
3125 Ivy Lane	Curb, Gutter & Pavement (Fronting)	42.5	LF	\$9.75 /LF	\$414.38
Grace Bible Church	Curb, Gutter & Pavement (Siding)	0.0	LF	\$4.88 /LF	\$0.00
Lot 4, Block 1	4' Sidewalk (Fronting)	178.5	SF	\$1.00 /SF	\$178.50
Tower Subd.	4' Sidewalk (Siding)	0.0	SF	\$0.50 /SF	\$0.00
	Driveway (In ROW)	0.0	SF	\$5.22 /SF	\$0.00
	Driveway (Behind ROW)	0.0	SF	\$26.12 /SF	\$0.00
			Total As	ssessment Cost:	\$592.88
4314 Ivy Lane	Curb, Gutter & Pavement (Fronting)	63.0	LE	\$9.75 /LF	\$614.25
Juan Pablo Duran	Curb, Gutter & Pavement (Siding)		LF	\$4.88 /LF	\$0.00
Lot 1E	4' Sidewalk (Fronting)	253.0		\$1.00 /SF	\$253.00
Ava Cooper Subd.	4' Sidewalk (Siding)		SF	\$0.50 /SF	\$0.00
Ava Gooper Gubu.	Driveway (In ROW)		SF	\$5.22 /SF	\$0.00
	Driveway (Behind ROW)		SF	\$26.12 /SF	\$0.00
	Divoway (Domina Novv)	0.0		ssessment Cost:	\$867.25
4310 Ivy Lane	Curb, Gutter & Pavement (Fronting)	97.0		\$9.75 /LF	\$945.75
Juan Pablo Duran	Curb, Gutter & Pavement (Siding)		LF	\$4.88 /LF	\$0.00
Lot 1D	4' Sidewalk (Fronting)	383.0		\$1.00 /SF	\$383.00
Ava Cooper Subd.	4' Sidewalk (Siding)		SF	\$0.50 /SF	\$0.00
	Driveway (In ROW)		SF	\$5.22 /SF	\$0.00
	Driveway (Behind ROW)	0.0	SF	\$26.12 /SF	\$0.00
			Total As	ssessment Cost:	\$1,328.75

12/20/2012 6 of 7

			Total	Assessment Co	st:	\$996.63
Corpus Christi, TX	Driveway (Behind ROW)	0.0	SF	\$26.12	/SF	\$0.00
3126 Horne Rd.	Driveway (In ROW)	0.0	SF	\$5.22	/SF	\$0.00
Ava Cooper Subd.	4' Sidewalk (Siding)	301.0	SF	\$0.50	/SF	\$150.50
Lot 6N	4' Sidewalk (Fronting)	153.5	SF	\$1.00	/SF	\$153.50
Steve L. JR/Maria Benavidez	Curb, Gutter & Pavement (Siding)	75.0	LF	\$4.88	/LF	\$366.00
3141 Horne Road	Curb, Gutter & Pavement (Fronting)	33.5	LF	\$9.75	/LF	\$326.63
			ı otal /	Assessment Co	ST:	\$796.63
	Driveway (Behind ROW)	0.0	-	\$26.12		\$0.00
	Driveway (In ROW)	0.0		\$5.22		\$0.00
Tower Subd.	4' Sidewalk (Siding)	126.0	SF	\$0.50	/SF	\$63.00
Lot 5, Block 1	4' Sidewalk (Fronting)	165.5	SF	\$1.00	/SF	\$165.50
Armando/Emma Botello	Curb, Gutter & Pavement (Siding)	38.5	LF	\$4.88	/LF	\$187.88
4315 Ivy Lane	Curb, Gutter & Pavement (Fronting)	39.0	LF	\$9.75	/LF	\$380.25

12/20/2012 7 of 7